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Group D
1). Which hormone increases the thickness and
vasculature of the endometrium
(a) Progesterone (b) Oxytocin (c) Estrogen
(d) FSH

2). LH surge occurs during which phase of the cycle
(a) Bleeding phase (b) Pre ovulatory phase
(c) Post ovulatory phase (d) Secretory Phase

3). Statement-l Primary symptoms of the STDs are
the ectopic pregnancy and still birth.

Statement-ll AIDS and hepatitis are caused by
bacteria.

(a) Both statements are correct

(b) Both statements are incorrect

(c) Only | statement is correct

(d) Only Il statement is correct

4). Menstrual flow occurs due to lack of
(@) FSH (b) Oxytocin (c) Vasopressin

(d) Progesterone.

5). The secretory phase in human menstrual cycle is
called as and for how long does it lasts for

(a) Luteal Phase and it lasts for 6 days.
(b) Follicular phase and it lasts for 6 days.
(c) Luteal Phase and it lasts for 13 days.

(d) Follicular phase and it lasts for 13 days.

6). Which of the following event is not associated
with ovulation in human females?

(a) Release of secondary oocyte (b) LH surge
(c) Release of Estradiol

(d) Full development of Graffian Follicle

7). Statement | = The reason for infertility may be
psychological, congenital, diseases, drugs,
immunological or even psychological.

Statement Il - Amniocentesis is used to test for
certain genetic disorders such as, down syndrome,
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haemophilia, sickle cell anaemia, typhoid, etc.,

Which of the following statement/s are correct?
(a) Only | is correct  (b) Only Il is correct

(c) Both are correct (d) | is correct and Il is wrong

8). Suppose genetic traits of an organism are given
as follows:

T = tall, t = short

W = wrinkled, w = round
A= Purple, a = white

P = axial, p = terminal

Which of the following is the genotype for a short,
wrinkled, purple, terminal positioned flower?
(a) ttWwaapp (b) TTWWAaPp (c) TtWwAAPP
(d) TtWwAApp

9). The two different sex chromosomes of a female
bird are:

(a) X and Y chromosomes
(b) Z and W chromosomes
(c) Z and Y chromosomes

(d) Z and Z chromosomes

10). The freezing point depression constant for
water is —1.86C. If 5.00 g of Na,SO, is dissolved

in 45.0 g H,O. The freezing point is changed by
-3.82C. Calculate the van't Hoff factor for Na;SO,.

(a) 2.63 (b)12.63 (c)8.83 (d)9.63

11). Deficiency of which enzyme causes the disease
albinism?

(a) Phenylalanine hydroxylase (b) Streptokinase
(c) Trypsin  (d) Tyrosinase

12). Name the enzyme that catalyses maltose into
glucose.

(a) Lactase (b) Maltase (c) Trypsin (d) Pepsin

13). Which one of the following nitrates will leave
behind a metal on strong heating



(a) Ferric nitrate  (b) Copper nitrate

(c) Manganese nitrate  (d) Silver nitrate

14). How many electrons per second pass through a
cross-section of a copper wire carrying 10716 A?

(@) 711 (b)624 (c)534 (d)679

15). 96500 Coulomb deposits 107.9 g of silver. If

electronics charge is 1.6%x10719 C, value of
Avogadro’s number is

(@) 6.02 x 102 mol™"  (b) 6.02 x 1023mol™
(c) 6.02 x 10" mole™  (d) 6.02 x 1071® mol!

16). A certain current liberates 0.500 g of H, in 2.00

h. How many gram of oxygen can be liberated by
the same current in the same time?

(a)A.0.500g (b)B.8.00g (c)C.4.00g
(d)D. 16.00 g

17). Acidified potassium dichromate reacts with
potassium iodide and oxidises it to |5. What is the

oxidation state of chromium in the products of the
reaction?

(@)+4 (b)+6 (c)+3 (d)+2

18). The electric potential at any point P on the
equatorial line of an electric dipole is

(a) Maximum (b) Zero (c)1 (d) Minimum

19). A full wave rectifier circuit is operating at 40 Hz
mains frequency, so what is the fundamental
frequency in ripple?

(a) 50 Hz (b)25Hz (c¢) 100Hz (d)70.7 Hz

20). Which of the following statements related to
electrostatics is Not Correct?

(a) Charge is quantised (b) Charge is conserved

(c) An isolated electric charge at rest produces an
electric field around it.

(d) A stationary charge produces both electric and
magnetic fields

21). What is not true of inductance coil in collector-
base circuit?

(a) It is electromagnetically coupled with tank circuit
inductance coil.

(b) It re-aligns the feedback by providing additional
180- phase change.

(c) Feedback cannot be altered using these
inductance coil.

(d) Mutual inductance is present between this inductor
and tank circuit inductor.

22). Drift velocity of electrons under room
temperature is of the order of

(@) 0.1mm/s (b)1mm/s (c) 10 mm/s
(d) 15 mm/s

23). Fibre optics generally work on the principle of

(a) Reflection (b) Refraction (c) Dispersion

(d) Total Internal reflection

24). On an average, a neutron loses half of its
energy per collision with a quasi-free proton. To
reduce a 2 MeV neutron to a thermal neutron
having energy 0.04 eV, the number of collisions
required is nearly.

(@50 (b)52 (c)26 (d)15

25). Two electric bulbs P and Q have their
resistances in their ratio of 3:1. They are
connected in series across a battery. Find the ratio
of power dissipation in these bulbs.

(a)9:1 (b)1:9 (c)3:1 (d)1:3

26). How many such pairs of letters are there in the
word DOMESTIC, each of which has many letters
between them in the word as they have in the
English alphabet?

(a) None (b)One (c)Two (d) Three

27). Which answer figure will complete the pattern in
the question figure?

N

?

Xy

(@) (b) © [ (d)

28). From the given answer figures, select the one
in which the question figure is hidden/embedded.

X
(a) @ (b) m (c) (d); &




29). Statement is given followed by two conclusions

| and Il. You have to consider the statement to be
true even they seem to be at variance from
commonly known facts. You have to decide which
of the given conclusions, if any, follows from the
given statement.

Statement:

The manager humiliated Sachin in the presence of

his colleagues.

Conclusions:

|. The manager did not like Sachin.

II. Sachin was not popular with his colleagues.

(a) Only conclusion | follows
(b) Only conclusion Il follows
(c) Both conclusion | and Il follow

(d) Neither conclusion | nor |l follows

30). Select the missing number from the given
responses.

(a)12 (b)16 (c)18 (d) 14

31). Consider the given statement/s to be true and
decide which of the given
conclusions/assumptions can definitely be drawn
from the given statement.

Statement:

1) All elephants are men.

2) All men are socks.
Conclusion :

I: Some socks are elephants.
II: All elephants are socks.

(a) Only Conclusion | follows
(b) Only Conclusion Il follows

(c) Both Conclusions | and Il follows

(d) Neither conclusion | nor |l follows

32). From the given answer figures, select the one
in which the question figure is hidden/embedded.

Question Figure:

e

L)

Answer Figures:
: : e |

} ] | e (PR A |

{a) \b ic) (d)
(a) Figure (a) (b) Figure (b) (c) Figure (c)
(d) Figure (d)

33). In the following question, select the missing
number from the given alternatives.

9 8 7
13 16 14
36 32 ?

(@28 (b)21 (c)98 (d)42

34). Abhinav travels 10 km north and turns left.
Then he travels 6 km and turns right and cover
another 7 km. He finally turns to right and travels
another 6 km. How far (in km) is he from the point
of starting his journey?

(a)14 (b)16 (c)15 (d)17

35). If the triangle represents chicken, circle as fish
and square as meat. Which number can be
indicated as the people who consume chicken and
meat only.

@9 (b)17 (c)14 (d)6

36). Based on the given statement and few
conclusions, choose the statement which gives the
correct conclusions:

Statement:

All Perfumes smell nice.
Perfume is made of chemical.
Conclusions:

1. All chemical smells nice.

2. No perfume smells bad.

(a) Only conclusion 1 follows
(b) Only conclusion 2 follows
(c) Either conclusion 1 or conclusion 2 follows

(d) Neither conclusion 1 nor conclusion 2 follows

Direction: In the question below, some
assumptions are given followed by a statement. An
assumption is assumed to be correct. You have

to consider the statement and the following
assumptions and then decide which of the
assumptions is implicit in the statement.

37). Statement: This book is for those who are
interested to know more about ‘Indian History'.
Assumptions:
|. People who are interested to know about the
author may read books.

Il. Every book may attract some readers.

(a) if only assumption | is implicit

(b) if only assumption Il is implicit

(c) If either assumption | or Il is implicit

(d) If neither assumption | or Il is implicit

38). X and are brothers. R is the father of Y. T is
the sister of S who is maternal uncle of X. Howis T



related to R?

(a) Mother (b) Wife (c) Sister (d) Brother

39). Pointing towards a girl, Rajan said, she is the
daughter of my mother's daughter. Then how is the
girl related to Rajan? (Rajan is a male.)

(a) Daughter (b) Niece (c) Nephew (d) Uncle

40). Jyotsna is in the west of Pulkit who is in the
north of Prerna. Prerna is in the north-west
direction of Komal. Komal is in which direction with
respect to Jyotsna?

(a) South-East (b) East (c) North-East
(d) South-West

41). Select the word-pair in which two words are
related in the same way as are the two words in
the following word pair.

Rooster : Hen
(a) Stallion : Mare (b) Animal : Dog (c) Girl : Aunt
(d) Apple : Fruit

42). In a code language, YOGHURT is written
as 251578211820. How will DEVELOP be written
as in that language?

(a) 45225121516  (b) 45225111516
(c) 45225121515  (d) 45215121516

43). Two statements are given, followed by three
conclusions numbers |, Il and Ill. Assuming the
statements to be true, even if they seem to be at
variance with commonly known facts, decide
which of the conclusions logically follow(s) from
the statements.

Statements:

Some water are air.

Some air are fire.
Conclusions:

|. Some fire are water.

Il. Some water can be fire.
lll. No fire is water.

(a) Only conclusions | and IlI follow.
(b) None of the conclusions follows.
(c) Only conclusions |1l follows.

(d) Conclusion Il and either conclusion | or Il follows.

44). In a certain code language, CORONAVIRUS is
written as SURIVANOROC. How will PANDEMIC
be written in the same code language?

(a) CILODNAP  (b) CIMEDKTP (c) CIMEDNAP
(d) IHMEDNAP

45). Select the Venn diagram that best illustrates the
relationship between the following classes.

Blueberries, Bing cherry, Bananas.
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46). Read the given statements and conclusions
carefully. Assuming that the information given in
the statements is true, even if it appears to be at
variance with commonly known facts, decide
which of the given conclusions logically follow(s)
from the statements.

Statements:
1. Some dancers are writers.
2. All writers are students.

Conclusions:

|. Some students are dancers.

Il. Some students are writers.

Ill. No student is a dancer.
(a) Only conclusions Il and IlI follow.
(b) Only conclusions | and Il follow.

(c) All conclusions |, Il and 11l follow.

(d) Either conclusion | or Ill follows.

47). Select the letter-pair that can replace the
question mark (?) in the following series.
PR, NQ, LR, JO, ?

(a)HL (b) GN (c) HN (d) HM

48). In a certain code language, ‘PLANE’ is written
as ‘VQEQG'. What is the code for ‘ROUGH ' in that
code language?

(@) WTYIJ (b) XTYJJ (c) XSYIJ (d) XTYJI

49). In a certain code language, ‘/EMPTYD' is written
as ‘CJNQWA'. What will be the code for 'VACANT’
in that code language?



(a) UYAMYR (b) TXBXLQ (c) UYBYMR
(d) TXAXLQ

50). Select the letter-pair that can replace the
question mark (?) in the following series.

ABC, FGH, LMN, ?

(a) TUV (b)STU (c)RST (d) QRS

51). In the following question, one statement is
followed by two Assumptions | and Il. You have to
consider the statement to be true, even if
they seems to be at variance from commonly
known facts. You have to decide which of the
given assumption(s), if any, follow(s) from the
given statement.

Statement: “In India, seventy percent of annual
rainfall occurs in monsoon season”.

Assumptions:
I In India, rainfall occurs only during monsoon.

II. Monsoon does not contribute much to the rainy
season in India.

(a) If only assumption | is implicit.

(b) If only assumption Il is implicit.

(c) If neither | nor Il is implicit.

(d) If both | and Il are implicit.

52). 15t january 2013 was Wednesday so what was
the day of the week on 31 December 2013?

(a) Tuesday (b) Wednesday (c) Thursday
(d) Friday

53). Select the number that can replace the
question mark (?) in the following series.
2,6,38,7

(a) 1444 (b) 1446 (c) 1448 (d) 1450

54). In the following question, one statement is
followed by two Assumptions | and Il. You have to
consider the statement to be true, even if
they seems to be at variance from commonly
known facts. You have to decide which of the
given assumption(s), if any, follow(s) from the
given statement.

Statement: “Peace and justice are the two side of
the same coin.

Assumptions:
|. Peace and justice cannot coexist.
Il. Peace and justice thrive together.

(a) If only assumption | is implicit.

(b) If only assumption Il is implicit.

(c) If neither I nor Il is implicit.
(d) If both | and Il are implicit.

Direction: A question and two statements labelled
(I) and (II) are given. You have to decide which
statement(s) is/are sufficient to answer the
question.

55). In which year Manish was born?
Statements:
I. Manish is 30 years younger than his father.
Il. Manish’s sister, who is 25 years younger than
her father and she was born in 1980

(a) Only statement | is sufficient.
(b) Only statement Il is sufficient.
(c) Data is not sufficient.

(d) Both | and |l together are sufficient.

56). A container contains a mixture of water and
milk in the ratio of 7:5 and another container
contains the ratio of water and milk in 7:9. How
many litres of the first mixture is added in the 20
litres of the second mixture to make the Ratio in
1:1?

(@ 201it (b) 151t (c)12lit (d) 10 lit

57). If the number of sides of a regular polygon is
10. Find the interior angle of the polygon.

() 144 (b) 180 (c)244 (d) 186

58). What is the sum of first40 terms of: 1 +3 +4 +
5+47+7+10+9+ ... upto 40 terms?

(a) 1010 (b) 1115 (c) 1030 (d) 1031

59). If a certain sum becomes 3 times in 6 years at
compound interest, then in how many years, it will
become 81 times?

(a)81 (b)162 (c)27 (d)24

, then what is the

______ c_3
B 3¢ 5 D 2
ratioof A:B:C:D?

(@)8:12:10:15 (b)8:15:12:10

(c)8:10:12:15 (d)8:12:15:10

61). An amount was lent for one year at the rate of
10% per annum compounding annually. Had the
compounding been done half yearly, the interest
would have increased by 80. What was the
amount (in Rs) lent?

(a) 16000 (b) 32000 (c) 48000 (d) 64000

62). There are 40 balls in a box of 3 colours: red,
blue and green. There are 18 red balls. Two balls
are drawn from the box one by one without



replacement. The probability of getting a red ball in
the first draw & a green ball in the 2nd draw is
3/26. What was the number of blue balls?

(@12 ()14 (c)13 (d)15

63). Find the product of all the factors of 1507
@ (5)'° (b) (150° (c) (25)° (d) (150)*

64). A container contains 40 liters of milk. From this
container 4 liters of milk was taken out and
replaced by water. This was repeated further for
two times. How much milk is now contained in the
container?

(a) 29 liters  (b) 30.1 liters  (c) 29.16 liters
(d) 28.64 liters

65). A goes to a mall from his house on a cycle at
8km/h and comes back to his house on a cycle at
6 km/h. if he takes 1 hour 10 minutes in all, what is
the distance between his house and the mall?

(@)8km (b)4km (c)5km (d)6km

66). Direction: The given bar graph shows the
number of students of two schools over a period of
six years.

=School A = School B

1000
200
800
700 |
600
500
400
300
200
100

In the bar graph, what is the ratio of the average of
total students from school B to the average of total
students from school A?

(a) 799: 429 (b)429:370 (c)370:429

(d) 429 : 799

67). Direction: The given histogram shows the
height of the students.

Numbers of students

Height class in cm

The number of students whose height is in the
class interval 165-170 is what percentage less
than the number of students whose height is in the
interval 150-1557(correct to one decimal place)

(a)6.7% (b)5.5% (c)4.8% (d)1.9%

68). Direction: The following histogram shows the
weights of students of class X in a school on a
particular day. Total number of students enrolled in
class X = 200.
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The number of students weighing less than 55 kg
is what percentage less than the number of
students weighing 55 kg to 65 kg?

(@) 5% (b) 10% (c) 8% (d) 7%
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70). If two successive discounts, each of 20% on
the marked price of an article, are equal to a single
discount of 331.20 then the marked price (in %) of
the article is:

(a)645 (b) 1,200 (c)920 (d) 750

71). A sum amounts to ¥7,562 in 4 years and
to ¥8,469.44 in 5 years at a certain rate per annum
when the interest is compounded yearly.
If 10,000 is borrowed for two years at the same



rate of interest, then what will be the compound
interest (in %) ?

(a) 2,544 (b) 2,764 (c) 1,965 (d)1,736

72). One side of a rhombus is 13 cm and one of its

diagonals is 24 cm. What is the area (in cm2) of
rhombus?

(a) 30 (b)60 (c)120 (d)90

73). If a nine-digit number 785x3678y is divisible by
72, then the value of (x + y) is:

(@10 (b)5 (c)12 (d)20

74). |f 4 - 2sin?0 — 5cos0 = 0, 0° < @ < 90° then the
value of cos@ — tanB is:

(a)lw'—lﬁ (b)l:»sﬁ (c)l—qﬁ (d)l—Z\E

g 3 >

75). The radius of the base of a cylinder is 14
cmand its volume is 6160 cm®" The curved surface
area (in cm2) is:

79

‘ Taken = ; '
(a) 880 (b)940 (c)778 (d)660

76). Ina ppaRC. the bisector of 2B and 2C meet at
O in the triangle. If zBOC = 134° then the
measure of ZAis:

(a) 116° (b)88° (c)52° (d)104°

77). In sapc.BD L ac atD, Eis a point on BC such
that ,gga = o if
ZEAC = 62° and ZEBD =60°, then the value of
X is?

(a) 78° (b)68° (c)76° (d)92°

78). i x*+x*= 194, x > Othen what is the value of

X+—+27

X
(a)6 (b)8 (c)4 (d)14

79). IfA's salary is 30% more than B's salary, then
by what percentage is B's salary less than that of
A? (correct to one decimal place)

(@) 17.5% (b) 23.1% (c) 25% (d) 19.7%

80). Two numbers are in the ratio 7 : 11. If their HCF
is 28, then the sum of the two numbers is:

(a) 196 (b)504 (c) 112 (d) 308

81). Tilling is the process of which among the
following?

(a) Loosening and Turning of the Soil
(b) Harvesting of Plants  (c) Sowing of Seeds

(d) Irrigation of Farms

82). The mixture of
called the soil?

(a) Humus (b) Clay (c) Minerals (d) Sand

and rock particles is

83). Which of the following is not a Bhakti saint?

(a) Chaitanya (b) Jnaneshvara (c) Baba Farid
(d) Kabir

84). Which statement is correct regarding
'Kalingattuparani' ?

(a) It is a12th century poem and war song by
Jayankondar.

(b) A form of Martial arts.
(c) Tamil translation of the Ramayana.

(d) Religious book of Tamils.

85). Which of the following is the second-highest
peacetime gallantry award?

(a) Ashoka Chakra (b) Kirti Chakra
(c) Param Vir Chakra (d) Shaurya Chakra

86). Arjuna Award was considered the highest
sporting honour of India, before the introduction of
which of the following awards?

(a) Dronacharya Award

(b) Major Dhyan Chand Khel Ratna
(c) Maulana Abul Kalam Azad Trophy
(d) Rashtriya Khel ProtsahanPuruskar

87). Wrong statement about UP| is

(a) It is a mobile platform based interface to quickly
transfer money

(b) It is developed by National Payments Corporation
of India

(c) It's full form is Uniform Payment Interface

(d) It was approved on 11 April 2016

88). The incorrect statement regarding RuPay is

(a) RuPay is an Indian multinational financial services
and payment service system

(b) It was launched by RBI



(c) It was launched on 26 March 2012

(d) RuPay facilitates electronic payment at all Indian
banks and financial institutions

89). Recently the 32nd session of the Indian Art
History Congress has started in which city?

(a) Noida (b) Delhi (c) Mumbai (d) Indore

90). Recently the scientists of which country have
created a kangaroo embryo for the first time using
IVF technology?

(a) Australia (b) America (c) Russia (d) Germany

91). Trade between two countries is termed as......
(a) International Trade (b) Internal Trade

(c) External Trade (d) Exclusive Trade

92). What does M stands for in the term M
Favoured Nation?

(a) Mature (b) Most (c) Maintain (d) Major

93). Which of the following is a type of folk dance?
(a) Sattriva (b) Kuchipudi (c) Bharatnatyam
(d) Bihu

94). was earlier known as ‘DasiAttam’.
(a) Kathakali (b) Kuchipudi (c) Bharatnatyam
(d) Kathak

95). I|d-ul-Fitr marks the ending of-
(a) Ramadan (b) Holi (c) Diwali (d) Christmas

96). Which of the following is a famous festival of
Mizoram and West Bengal respectively?

(a) Chapchar Kut and Losar

(b) Chapchar Kut and Gangau
(c¢) Hornbill and Baisakhi

(d) Chapchar Kut and Durga Puja

97). Which of the following is an incorrect
statement?

(a) The instruments of classical music are crafted by
expert artisans.

(b) The instruments of folk music are commonly
crafted by musicians themselves.

(c¢) Folk music is taught by the formal training in music
academy.

(d) Folk music is an indispensable component of
weddings and festivals.

98). In Pandavani, a folk song of Chhattisgarh, tales
of which ancient Indian epic is sung?

(a) Mahabharata (b) Ramayana (c) Panchatantra
(d) Shakuntala

99). Recently India has achieved an important
milestone by producing more than how many
gigawatts of solar energy?

(a) 200 gigawatts (b) 100 gigawatts
(c) 120 gigawatts (d) 150 gigawatts

100). Recently which state government has
launched the Vikashishtha Gaon Yojana?

(a) Haryana (b) Odisha (c) Bihar (d) Jharkhand



